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1 #akE IEER BEHH 36 37 73
2 AH BEX FEM 37 37 74
3 KIE 1&3h et 40 37 77
4 E IEA izl 39 38 77
5 Nk EA WEM 37 40 77
6 /MR FET FrHET 36 41 77
1THRH # WEM 39 39 78
8 fHE AN AR 41 38 79
9 &M &8 am 41 38 79
10 B EB—B XIE™ 41 38 79
11 @A 75 EEmh 39 40 79
12 #/m)l EA inta 39 40 79
13 &M XE ndiil ) 38 41 79
14 IB% FA KZEH 37 42 79
15 % Fik EiEH 42 38 80
16 Rk %a ES R o] 41 39 80
17 KAR # KFEBET 39 41 80
18 st ZER MR 38 42 80
19 X% @BE AREEN 37 43 80
20 5% BF etii] 41 40 81
21 g & FER 40 M 81
22 $5K IE—BF [EEETH 39 42 81
23 EIR & e A o] 39 42 81
24 Bk RE Ml 38 43 81
25 /DFR KEH FEM 37 44 81
26 i AR — = Hr 42 40 82
27 FBR FE— T 42 40 82
28 HE &2 NN ] 42 40 82
29 Il B Bsmh 4 4 82
30 Bl f#— ka™ 41 M 82
31 fER 88 et 4 4 82
32 Bt —=% mlR™ 40 42 82
33 JEER S=FM EiEH 43 40 83
4 A+E #— mBHEm 41 42 83
B AiE E—B FEM 43 41 84
36 kFF Fth mlR™ 43 41 84
37 #U & INFHR™ 40 44 84
38 FEH FE fafE™ 39 45 84
39 BKR F Ml 44 4 85
40 FRE 1ER Ml 42 43 85
A1 BHF B ¥FHE™ 42 43 85
42 =ik BX BEEHH 42 43 85
43 &%t HARE e 40 45 85
4 =F H— Ml 45 4 86
45 FEF E— FEdh 44 42 86
46 LLO A7 FNgam™ 43 43 86
47 IMNR ETF] e 42 44 86
48 % BX BiZh 47 40 87
49 FiE {47 e 2 o] 45 42 87
50 fhA {EHE FEM 45 42 87
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51 #5[ HA BEH™ 44 43 87

52 8H F etih] 42 45 87
53 {Fi& 198 et 42 45 87
54 aK EKRER THIR™ 45 43 88
55 5 Hll5A FEM 45 43 88
56 E& {SH4 infE™ 45 43 88
57 =ik HfE—BR  fATh 43 45 88
58 Heh fi# kEa™ 46 43 89
59 AL 157 ARM 45 44 89
60 28 &R— Ml 47 43 90
61 Rl 7% etigii] 46 44 90
62 el H— s amh 45 45 90
63 BhJIl &38h am 45 45 90
64 EiA Bk A 42 48 90
65 =& X & W4T 45 46 91
66 k% KE— INFHR™ 44 47 91
67 I_RA et 48 44 92
68 #5 K &R FrHE™ 48 44 92
69 ¥ 1EBA WEM 46 46 92
70 TR AA fafE™ 46 46 92
1 &4 L et 44 48 92
72 H & il 48 45 93
13 Ki&g BT ENdaH 39 54 93
74 Bl # FER 48 46 94
75 BE #k MR 46 48 94
76 HiE FE R E 45 49 94
77 FL HA FEM 50 45 95
78 {kiE FAT MR 47 48 95
79 ;EHE FIA FEH 54 43 97
80 #H EEIL ALY 48 49 97
81 RK/A BF KEEM 42 55 97
82 fi K # mlR™ 48 50 98
83 Rk If— fasE™ 53 49 102
K& Bk =E fasE™ 0 O 0
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